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TEACHERS RECRUITMENT BOARD CHENNAI 6
Written Competitive Examination for
Recruitment of BRTE in SSA ( 2008 - 2009 )

ZOOLOGY

Time Allowed : 3 Hours 1 [ Total Marks : 150

Each question carries four options namely A, B, C and D.
Choosc one correct option and mark in appropriate place in the
OMR Answer Sheet.

geiQarg alereilpeb A, B, C vppid D asrp prevg allasst sriul.Gererer.
sfurer afloLaow Gﬁl’ffp@;@iﬂ OMR afl@Lggrafle spparer Guide

@;ﬂuﬂt_sqm
1.  Who was the Viceroy of India when the Rowlatt Act was passed ?
A} Lord Irwin : B) Lord Chelmsford
C) Lord Wavell : D) Lord Welllngton
Qipeneul &L b mmt_@mrpuu@.gg,uuu_ Gurg mmé’lgrrmnas @mhgeuT wrt 2
Al @pelle Sgy ' B Q@abeuGuri@® Sy
: C)  GeauBoués Syy D} Qeuelbieir Gy,
2.  Which one of the following is the softest ?
-A)  Sodium _ B)  Aluminium
C) Iron : D) Lithium.
| pdaaoreuhpien g Lﬂ@gjmrrsur@ ? _
A Gamguwid . Bl  sgunblefluid
_ C @by D) eNjdluid.
3.  As a non-member who can participate in thc proceedings of either of House of .
Parliament ? _
4A)  Vice-President B) - Chief Justice
C) Attorney General D) Chief Electlon Commissioner.

PrLT@watn @6 Soauslgn 2 gt Sdherg wrh I L
BLsug Sengamefle Lg OQeTsien @uepd ?

A) g GRUTES Semeveult B) sowow BHud
0  euriall Ggerye ' D) spowew Coige e,
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Which is the river on which Indira Sagar Dam is planned to be constructed ?

A)  Mahanadi : B} Gaodavari

C) Krishna D) Narmada. .

abs @bl @psGs Gbdlyr srat e sl S B i Gereng 2

A warpd - B)  Gargmeufl

C) &peiyemom : D)  piwam.

The first astronomer who gave the idea, ‘The earth rotates on its axis’, is

A) . Bhaskara B) Aryabhatta

C) Varahamihira ' D) Kalpana Chawla,

yell geir S5 éles spadlpg aduams wedla GeMalss aurellud wahgupt Guueays
N R
A umevsgr . Bl yfluces

Cl  eugraiBgirt D) sdueim smeler.

[a]

Which one of the following angles cannot be constructed using an unmarked
ruler and compass only ?

A 75 B) . 90°

O 50 D} 223"

dpsarggd Garam smasdld gerall iurs Sena)Carar wHmID Hribuder
2 galure aps Carambamg aemru Guers ?

A 75 B 90

Q 50 . | D) 221°

For a Frequency Polygon, the points are plotted against

A)  mid-point of the class interval vs frequency

B) lower limit of the class interval vs frequency

C)  upper limit of the class interval vs frequency

D} real limit of the class interval vs frequency. :
96 Speal uaBarangdd ydelad aspe adrmas eNésiLRADE 7
A augly Qe Qeusflder pGuerel vs ot Cleuedor

B) el GoLQeausilfldr dpaybuivstel vs sl Gamn

0 ey GorCaefidlar Cudwanbyiysied vs st Qeuedr
D) gy G el o wueaw aupbyisiell vs o Gleusdsr.
AICTE was established in "

A) November, 1945 B} November, 1955
C) November, 1985 D) November, 1975.
AICTE figyeutiul L gy e

A)  peubuit, 1945 B)  peuburt, 1955

©)  peubut, 1985 | D) peubuf, 1975.

*



o -

3

‘One of the main publications of John Dewey is

A)  Secrets of Childhood B} Education Today

C) Education of Man : D) The Social Contract.
- grar @Caular Qeusfiipaailds upédlunrearg :

A @pbosl L Faflub _ B) @erempus adal

0 wefgafer sdwal ' D) ewpsTu GLUBSD.

10.

11.

According to David Ausubel, “Verbal Learning” is
4A) learning a new language

B) oral practice

C) understanding verbal information

D) passive learning experience.

. CGLalll gy aluddler amsgliuyg ‘eumbaflé shpe adLg

A yuQuwrfl gdops sHps Cersiaug

B) eurliGuomfin Luliphét

0 eariaufly saeidamanst LfibgQaTeieaug

D) Qeuwpn shné gD,

The Southern Regional Office of UGC is in ‘

A) Hyderabad ‘ B} Bangalore

Q) Chcnnai S D) Mumbai.
Ui eneudé|pe omeflus [GIC: [UGC ) aﬁ]m Qshe@ WoILB g|gua.leosath amm;bgsﬁen
@b
A oapsyTUng B) .. Quiisgst
C) Qaeraen . D) pibeo.

12,

13.

National P0pulation Policy was evolved in the year-

A 1976 | B 1979
cy 1986 - D) 1977.
Caélu waael @g,rrsmaa Qasrreﬂcmﬁ Gsrppialssin L pyTT®
A 1976 e Bl 1979
g 19886 - D 1977..
Accordjng to Abraham Maslow ‘Self- Actualisation in the hierarchy is
A) ﬁrst step B)' final step
C) third step D) fourth step.
HUTHTD mrrsm@mrr-sﬁ]aﬁ uq.@ma)a,elﬂs\) g,surasﬂempcu aeug
A opad foe Bl Qo Hoe

C)  apssrmmhd Hleva . - D) preterd Hleve.
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15.

16.
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Who is the author of ‘Emile’ ?
A}  Dewey B) Bertrand Russell
C) Froebel ' D) Rousseau.
‘Emile’ ereirugest ol
A @f - B  Quityem. gevend
Q) o°eD(3[rnGlud) D) pQanunm.

The university that has no affiliated colleges is

A)  Madras University

'B) 'Madurai Kamaraj University

Q) ’I‘ha.njavﬁr Tamil University

D) Manonmanium Sundaranar University.

sogilae e aums LOSINGHHPHD TETLSNNTSS
4) Oretenar LOLGMNESHPSHD

B) wgeor srwgret UhGEESPHD

O sems gdlp vhsmesapHD

D} wGamenoamiud &HeTEITT UhGHNSSPSID.

Human Rights Day is
A}  December 10 B) December 7 |
C) December 26 : D) July 17.

wellg o fewast Seonb aeug

A)  wedui 10 ' B) wgebur 7

| C)  wgebuf 26 D} g@ee 17.

17.

Which one of the following models is not on curriculum development ?
A)  The Tylor model B) The Ausubel's model

C)  The Taba model D) The Hunkin's model.
Spsaa_cibpieh g adall ghur@ centéfeg Qpritldersg 2

A e wrSlf! . | B) se0udeie wrgifl

C) wmur Lprrélrﬂ | | D} ametr flesterSlest wrElf).
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19,

20.

21.
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The chief objectxve of pre-primary educatlon is to promote ..................... of the
child. ’ | |

A)  physical development B) mental development

C) social development D)  overall development.

(et yrbusssaldear wadlu Crrésprarg
A) a_|__é) auent &8 yflafs g

B ovarauerisflou oMz

C) eswsmw suentt & e ALY LY

D) glEbwrs mmﬁéﬂmm.aﬁarﬂigd\).

If the teacher finds in learner's activities something new or original, then the
child is supposed to be ' '

A)  intelligent ' . B}  creative

C) critical ' D) motivated.

B Gphengdldr sbpd. @&md\)un@maﬂs\) gCaab qﬁ;]g;rraa S{ee0g) a&mmrrscrgrraa PO
< Arflwrk aGWL@fbg,rrm Sibsé GPbosuTag :

A ysdlemrell . B) '%ésagaﬂp@ml_.-umr'r"

Q) ﬂmmnmmﬂé&mﬁ L D) w&@aﬂé&ﬂuLLmﬁ.

Which one of the following is not a learning domain ?

A) - Cognitive domain B) Psychomotor domain
C) Physiological domain D)  Affective domain.
SpheoT_eupmieh 6T @s&r@_&,gbg)d) LGS Gleenss 2
Al edlep ugd 7 B) 2 er-QussliLgs)
O 2 eflwd ugd . D) 2 cmiddll ugd).

* Scarlet fever is caused by

A Sb'eptococcus' pyogenes B)  Haemophilus influenzae
a Klebsiella prneumnoniae D)  Staphylococcus aureus.

evsTrole. srigesie smyeawfl

B GG rersedy ewuGurglerey
B) afCureveey Gersdlgmuear@s.

Q) doawdueenr KGhrefiGCy

D) oL SenCovrardaey 2y flwet.
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22.  Which of the following reactions explains Nitrification ?
A) 2NH; + 30, 2NO, + 2H" + 2H ,0
2NO, + 0O, - 2NO ;-
B) 2NH2+302—&2N02‘+2H*+2H20-
2NO, + O, - 2NO
C) 2NH3+3027-+2N02‘+2H*+2H20
2NO , + O, - 2NO "
D} 2NH,+ 3N, 2NO, + 2H* + 2H,0
2NO ,~ + N, = 4NO .
oL flCsayemear alend@h aflemet
A) 2NH,+30,- 2NO, +2H"* + 2H,0
2NO ,” + O, — 2NO ;~
B) 2NH, +30,- 2NO, + 2H* + 2H,0
2NO ,~+ O, = 2NO ;-
C) 2NH, + 30, 2NO, + 2H* + 2H,0
~ 2NO, +0,— 2NO," |
D} 2NH3+3N2—>2N02’+2H++2H20
2NO,  + N, = 4NO," . '
23. An example for a polyhedral virus with enveloped capsid is
Aj - Herpes simplex virus B) Adenovirus
C) Poliovirus ‘ D) Influenza virus.
sTUSiyens Gl LaGsTRIRsaIEILL eIy WIg) ?
A Qaniuedy Hibilerédy eneuray B) 238arm ancuye .
0  Curel@ur eneuryen : | D) @ebtcsLieghwesTe T eneure,
24, Zeralenone is a mycotoxin produced by
A)  Aspergillus flavus B)  Penicilitum claviforme
C) Aspergillus ochraceus D) Fusarium graminearum.
QegneliGamsr eretip YEheme pehSlemar e puddl Oelieug
A getglomey Serreasy - B Gueldaeiub derralssumtidl
i :
C) yevurigllioaay g sdlyrdluey D) yGeflud SlgmblCmifiub.

Be ot e - . PEWSTRESORTY °t; -t



25.

26.

Match List I correctly with List I and select your answer using the codes given
below :

List I  ListIr
a) Bacillus 1.  Comma shaped
b}  Vibrio .2,  Spiral
¢)  Spirillum 3. Spherical
d} Coccus 4. Rod like.
Codes: ‘ '
a b c d
A) 4 1 .2 3
B 2 3 4 1
C) 4 2 1 3
D 3 4 2 1

utgue Igpuigue Mo Guresdl, &Cp @mr@&;esuuz_@arrm GRSPemens
Qara® sflurar alemnsws (Byrg;@g@

ucgwés I - : ucigwes IT
a Guéléesn 1. émrr 6uIg 6D
b}  eSOfGuwr 2. &@mST eugeuld
¢) evesurfléeud 3. Gomer cugeud
_ d} srésdy 4. | geoo(h eugeub
sdpser :
‘ a b c d
Al 4 1 2 3
B 2 3 4 1
Q) 4 2 1 3
DD 3 4 2 1.

The wire loop of the inoculation needle is made of

A) Nichrome | B Tungsten

Q) .\ Steel D) Copper.

2 L Qefssase [ inoculation ) uweTuPSsULED &bl CUERETWD  €THEITE

QedwiuL g ?
-AJ @éﬁéﬂ@urxiﬁ .  B)  Léiduied
C) &du® . D) amign.
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27. Pitocin is a synthetic form of which of the following ?
A Vasopreésm . B) Oxytocin
C) Caldfonm D)  Osteocalcin.
o’ QL fler ersitug abs aptiGurefsr Grwhens apTiGuored &b 1
A eurGsrullydles ' B) %é,eﬂ@l_nﬂdw
C) &rafl Gurefer D) gyevgCuramedler.
28. Sheehan syndrome is related to
A) overpfoduction of vasopressin
B) underproduction of prolactin
C}) underproduction of vasopressin
D) overproductibn of growth hormone. | .
Famen é\ls'sn_'-CBUrriu aglam@ QT Ty Lg 7
' aurGer iy fleflesr Wlems L[bu&,‘@
B yGyrletyalld @opey 2-husd)
0 eanCasrifyélalen geopey e pupd)
D) euenitédl apriGuress Wens Lrj)ugﬂ.

29. Fasting and chronic protein deprivation, increased plasma levels of amino acids

are the stimuli for increased secretion of

A)  Adrenocorticotropic hormone - B) Growth hormone .
C) Thyroxine o D) Insulin.

2 ciramn Gpuety, prauil yrs Goy, demevorais sufiGearm aﬁmr&maﬂsﬁ
sieTa) sPlefsss 9 Huaplar gran@aens AfaoTs FTSEILGD aDTTGoTe

4 o fGenir amty&sCar GCrMIe anmtGomes | |

‘B) auent&d) ammiGuomesr

C)  engpréHSlen

D} @eraadlen.



30.

31.

32.

o - s-07
Myxedema is a condition related to |
A)  Adrenocortical hormones B)  Thyroid hormones .

C) Neurohypophyséal hormones D)  Parathyroid hormones.
fi&fiewr eep HevaGur® s ryamLwus

A sfCartrantysd aomiGoreser

B)  engpmi® amrr@ureser

C) - By Grr enapiCGurenudlen aomtGuometse
D) ungresgrml@ pomiCome,
Norepinephring is secreted by

A)  Adrenal medulla B)  Adrenal cortex
C) Thymus ‘ D) Thyroid.
BB ifemer srlLg

A s ferés Quer B) gﬁﬁmd\) &L &en

C) emguwen . D) engpmii®.
The wrong statement about PTH1s '
A)  secretion of PTH is regulated by circulating levels of Ca ions

- B] PTH decreases Ca 2* levels in the blood

33.

C) - PTH sitmulates the process of bone resorption |

D) PTH increases Ca?* absorption from digested food.

urgr evsrTL{ emmiGuorenst (.P’I‘H ) @063 SeupTeT S oTEH 7

4A)  PTH Qs guULsdle e ciren arasiud guwellae s GLUGSsSULES DS

B) @rszsdler e eren arddlubd 2+ gereysenen P’I‘H@mpéaﬂc&rmg}‘

C) egbusdles syflalomear PTH gream@dng |

D) Q@Qsflesiuce s eavallfipps sradlub 2+ o dydlgsewe PTH

- yflafsdans. ‘ :
Mysdre 5, MR2, Kanva-2 and Viswa are varieties of ~
A Silkworm B)  Mulberry pl%lnt
Q) Honeybee _ D) Pearl oyster.
DWEGT 5, MR2 sedteur -2 wppd aNeveur %ﬂms&:m srg,é&r UG SeIT 7
A Ul @uyy . B wéabufl Gy
C} Gael D)  wszedl.
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34. What is Chalkbrood ?

A)  Viral disease 6f Honeybee

B) Fungal disease of Honeybee

C) Bacterial disease of Mulberry plant

D) Protoé:oan disease c;f Sillkworm.

T LBl ErTITED erebTa 7

A Cgaforw urHaeb seuren Crmi

B) Gzafew urr;i,‘lé{@L‘n Leheng Cmmi

0  wabufl Qsyow urdegn urﬁ'mmrﬂm Gmmb

D) uw@iyyse urdlégb yBrmGLTGsreust Grmis.
35. Which one of the following is a column feeder ? |

Al Catla B) Rohu

Q Mrigal D) Siiver carp.
.ﬁtﬂa‘ﬂ 55@0 uGSlev 2 efren mem-a_LQeﬁrrdr@lb St

A sler B Grrw

Cr Bismré ' D) fléweurt smi.

86. Noserna bombycts causes which of the following in silkworms ?

4A) Flacherie ' B}  Polyhedral disease _ -
C} Pebrine ' : D) White muscardine.

L GIyellée Grrdior Lmbenudlay apCpmiamen 2 Bardedpg 2

4)  Hllenmési | B) ureflQamni yér Crmi

C) OQuienyer D) Gleusrener wevsTTanLe.

37. National Pollution Prevention Day is celebrated to mark

A) . BARC accident B}  Bhopal gas incident

C) blackening of Taj Mahal D)  pollution in river Ganga.
Copdlu wra&s EUUIR 5O Harbd Gens ePliugpers Carer uupdng 1
A)  BARC ailugg) B)  Gururér eury séley Blapeay

Cl  arg) wanme sEmHeLLTSE D)  shms sn or&UdHse.
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39,

40.

41.
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For aquaculture, the preferred soil pH range is |
A) ' neutral to slightly alkaline B)  strongly acidic
C) strongly alkaline D) neutralto sllghﬂy acidic,

it 2R euertilihe CutbOEREsILED waneid pH

A Py rddeps Afiganey srypsdraymL. g
B <oifs sfapsdabyoLug

O Igis s HSETDYOLLG

D) Pylgefeby fizee siflepssrawymug.

Which of the following is also known as ‘Terror of Bengal’ ?

A) Pistia B)  Mimosa pudica

- Q) Eichhornia crassipes . D) Ceratophyllum.

mﬁ:arr&rg‘,ﬂs&t LWRESTD a6 GHSsUUGME W 7

A Slevewr ' B) smw(}’cbir&n‘ Ly S&T

Q) ga‘sasmfsvﬁwrr S dliuey D) Qe GLmiléend.

The thickness of ozone in a column of air is measured in terms of

A)  Ozone hole Units ( OU ) | B} Dobson's Units (DU ) | '

C}] Swedberg Units (SU) D) Ozibels { OB }.

sThps sousdle gsrafldr guuamear GH&GD SOG
H

i

A) gGa-rrséT giemen e (OU) B) . wrlsd seg (DU)

C) &G ELTS S@e (SU) D) gélkus (OB).

Animals that are active oﬁly at dusk are call;:d |

A Auroral | - B) | Nocturnal

C) Diumal D) Vesporal.

DTene G)mal &mu.uf:la;e‘lﬂé) FQISDILILETST CIGBGBEN ..oreerrsrrrrenens  6Te0T BpSEULEID.
A o Gymyé ' . Bl précLfrené l

C)  eLyfreré D) . QeusvGumyé.

; ' . [ Turn over
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Organisms that are tolerant to wide range of salinity are called

A) Euryhaline - B) Stenchaline

C) Euhaline - D)  Mesohaline.
piflesr Lphs Lmﬁ'ﬁqﬁgsshmm wrhnses Bricssmiqu alletigssne
A) wﬂ@gmmma‘sr- : B) eveGarrGaneeer .
Q) yGaperevet D]A _ﬁ@an@mmmﬁr. '
Hair cells that act as auditory receptoxjs are .found in

A} - Tectorial membrane : B) Organ of Corti

C} Relssner's membrane D}  Scala vestibuli.

- Geall o_amtadl gpllaents GQsudu@d g Clsdaer Th@sterg 7

44,

A GL&GLmRud sciey

B Gerrlguigumuy

Q)  Grievent selay

D) @Gmmn Gleuevigyed) ( seoaeurdBeené: sméeuri ).

The outer, middle and inner layers of cranial meninges are

' A)  Arachnoid, Pla mater, Dura mater

B) Pia mater, Dura mater, Arachnoid

C) Dura mater, Arachnoid, Pia mater

D) Arachnﬁid. D'ura‘.mater.- Pia mater.

penens g moddes @mmﬂ; BE wHD 2_6f YHEGHeT WernGu
4 sp&dammiQ, eoLwrGui i, m.ggn@wn'.@r‘r

B) eouwrGol g, uq.gggrerl;l_r'r, N, XA I

Q) quorCor i, gqgré.e‘{lmrr‘u‘.n(a, TGl

D)  opsflem@. guyrCuolif, euwrGol i,



45.

46.

- 47,

13 8-07
The space between the cornea and the lens is filled with
A)  Aqueous humdf | B) Vitreous chambrer
C) Aqueous chamber D)  Vitreous humor.
éﬂ@@mw’muz_mh oppd el flelidoasdaGu o s Frogder Quurt |
A (peTs& e Bl alfuleraranp
C)  enaeasmTaon ) D) elfiuleraremp Bi.
Thg order of tissue layers of the gut from the outer side is
A}  Serosa, Sub-mucosa, Muséularis. Mucdéa. Lumen
B) Lumen, Mucosa, Muscularis, Sub-n}ucdlsa, Serosa
C) Muscularis, Seroéa. Mucosa, Sub-mucosa, Lumen
D) Serosa, Muscularis, Sub-mucosa, Mucosa, Lumen.
Qeuefluypsdimba G saut Ha oBHadadr cuflans
A fydecuey, gjsmm-a‘-’g,éémsq. seunpaae, £845610), 2 L@
B) oLy, Fasedia, sdapsas, sman-fgésdia), STéa6a)
Q) sdapses, 3[;&&@:}4. dadscia), g -FBéeea, 2.l Lanp
D) é’l}éésim;, FeLOSHME, Blnan-85E560ey, FHE5610), LL'_qcmp. ,
The region of nephron that helps produce concentrated urine is
A) Henle's loop and Vasa recta
B) Distal convoluted tuBule
C} Proximal convolutéd tubule and Vasa recta
D) Distal convoluted tubule and Henle's loop.
ST Blghs HApdhaar 2 Hugsd Gaiw G\Lr;o"ouljrrsc'i‘ﬂsiﬂ quuGd 2 sadlng
A Gapereddle suemenay whpd Qeusr Qe
Bl Ggremes cuenen Mm@
C) SIS S(HET HIRIG P wHHID CleusT G\ijém_ﬁ'
D) Glgrenes eusmen pissor@pds wpmid Qamedelifles cuamerey.
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48. In an ECG, the T-wave represents

49.

A)  Depolarisation of atria

Repolarisation of ventricles

14

B) Depol'arisation of ventricles
D} Contraction of both the atria.

Bletr el Glaw sueryilier 2 sfren T eyeme GHLE

C)
A)
B)
C)
D)
below
a)
b}
c)
d)
e)
Codes :
A)
B
C)
D}

List I

-Super antigen

Hapten
Adjuvants

Experimental antigen
Freund's adjuvant

4

WK~

oW

e’ flurelen (wenarey Beab

- U N A

— s WM

- 3. :
UChwd Ip ulgud e & Qurepsd), £Cp Qar@éssil Pearer NS Pamens

Qeuaor. fédlefller enearey Séeid

Qeuaioifsdleflen gy apener wrpiBe

8\ gL flurdsend sHuGSe0.
Match List I correctly with List I

Qenao® sflurer alenows Catba@ :
g we I

GLUT &, cvong Qigpedr

Cami_ e

S| Oeuebr_

Gergemean et Cigedr
Quiyeson’. o groaus.

al
b)
c)
d)
e)
ePi@se :
a
A 4
B 1
c 2
D) 5

oS I I -

N OB WO e,

= M O N f

W~ b WOn

Gk LN -

and select your answer using the codes given

List II
Penicillin
Keyhole limpet haemocyanin
Heat killed Mycobacteria _
Protein A of Staphylococcus aureus
ISCOM. “

ucgweo I
Queffleller
srallggener fibL e aGurenswrrefe
Qeautiugdlenmer GlameenriLl L
owslsrurseflur .
0L LBarardasy oy fueler yrpn A
ISCOM. )




50.

51.

B2,

53.

54.

15 8-07

Antibodies are classified based on the differences in ‘

A)  Jchain B) Heavy chain

C) Light chain D) Antigen binding site. .

eribe Ceugmig et Sugluenullés o i sré\r‘rﬁ:@urr@m? cuenstILSBLLC Befrerg 7
A Jsadled B) u@peure shdled

€  Quaedu (o) @Gmsrer shidlell D)  yengQiger @emenmyd Gt.o.
Hansen's node is rich in E

A) Retinoic acid ‘ B}  Folic acid

C) Phosvitin D) Lipovitin.
Camerasr (pgsdler leh 2 erarg | .
A Grrgertis sibled B) Gurelé sybleod
C)  urevail g ebr D)  &Guredlger,

The order of layers from the inner side of uterus is

A)  Endometrium, Myometrium, E;cometrium

B) Endometrium, Perimetrium, Myometrium

C} Endometrium, 'Myornetrium. Perimetrium

D) Perimetrium, Myometrium, Endometrium,

2ot LESSHOBHE HHLUOL ST JDsGsE aflams wurg 2
A ereTCL @l M, ewCurGiot.fub, o&GerGuo fub

B aaCLrQuolAub, QUG fub, enipCurGuor MAuwib

Q) GI'dSTGI_I'I'QLDl:_FﬂlIJI.'D, aoCurGio Mwb, QuAGwfwb

D) Quﬂ@mr_rﬂmlb, owCurGur fwib, aar@urGo fuwb.

Sustentacular cells were discovered by

Al Franz von Leydig B) Enrico Sertoli

C) Gurdon ' D) E.B. Wilson. -
s TéGet Qedamen seir_Dibseut :

A Sgreen Qeuret Govg.é B) aef&aGar GarGmed

Q) siLme D) E.B. efaser. . -

The oxidising agent released by the egg during cortical reaction is

A P,O4 : o B) HO, : .
¢) H,O, D) PO,. 7

Si@L_sdlé Haub sTiysd alomaeald Gurs Qeueflur@d gy sedlgBarphd

A P04 B} HO, .

0 H,0, D) PO,.

" [ Turn over
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In the following the plasmid s
Al  EcoRI B) AlUl
C) pBR322 D) Hind I,
Epsaarabie Jermeufl@ srg 2 '
A) EcoRI | B) AIUI
C) pBR322 o D) Hind I
The source of the restriction enzyme HindIll is _
A} Haemophilus influenzae Rd B)  Escherichia coli Rx13
C) Haemophilus parainfluenzae - D) Streptomyces albus dIII.

Hindlll erétrn GipevgNéenet Qpre) srmg)gﬁlaﬂ(r_r,g,g QuplLGEpg 7

A afCoreruevey Glarodiapuer@s Rd

Bl  gevGeflflur Camemew Rx13

C) e Coreruean Ly @)eitoS e weir G

D) e MG eoodleis gyebuat dIIL.

The possible number of different genotypes in human ABO blood type is

4 3 B 4
Cl 6 D) 8.
wallpeflds ABO Qsgeuamsile assaman aamnswure gCameL_Lisel Blepsem@id
A 3 : B 4
CQ 6 | D} 8.

The different types of red blood cells that determine ABO blood grouping in
human beings are a good example for

Al  Epistasis B}  Incomplete dominance

C) Dominance : D) Co-dominance. ' :
useuens @\16556 ﬂcuuu@aa&aen ABO @Q\rés eusnaseamen Bl eooruiiiugy eTebTLIg)
QlebS B ahpgsaT G

A ertnflevmerSlen B  @wusvwusLwurs @lﬁ:@ﬁ,ga’ﬁmm
0 gpugsssion | - D) @mm-gmg,;gswrmm

Triplet codon refers to sequence of three bases on

A  tRNA B) rRNA

C) snRNA D) mRNA.

aeubilensien ety srymsefar aflans (phew Cam_reen Ghladlemg
A) tRNA B) r RNA
C} snRNA DI mRNA
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61.

62.
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Which of the following is a recessive character in pea ?
A) Violet flower colour B) Terminal flower position
C) Green pod colour ‘D) Round seed shape.

o Lresfidler gpaco uanseflé ghH&sLLCL L6y

Al esigm Hip weuit B) perer Hees weolt
C) uéae o eSergyenp D) e @ameL ane alos.
Which of the following acts as inhibitor to succinate dehydrogenase ? .
A} lodoacetate ' B) Fluoride
C] Fluoroacetate D) Malonate. .
Fpsameorsupnyet 646G waran CrrehlCaraen sLBLLGSES TH ?
A puBLr sAGLL . B Syemeor®d
) o°o|.|eg§(8|jrf PG D}  wre@el.
The structure of Golgl apparatus was studied under electron microscope bjr
A) Daltonand Felix = B) Camillo Golgi .
C)} Porter D} Thompson.
| qeubLgmes @éﬁo‘r@éﬁméaﬂ ped srams 2 priflar sewilomer gyrminbseaut
A  Lrédlsr whpd Guedsey Bl anfaler srdaams
C) Gumflody ' - D) smhboes.

Match List I correctly with List II and select your answer using the codes given

below : _ '

ListI List II

a) Golgi complex - 1. Aerobic respiration
b) Mitochondria 2. Excretion
c) Contractile vacuole 3. Synthesis of steroidal hormones
d) Lysosomes 4. Site of formation of glycoprotein
- ¢ Endoplasmic reticulum 5. Hydrolytic enzymes.
Codes : :
a b ¢ d e
A 4 1 2 5 3
B 3 1 2 5 4
o 3 5 1 2 4
"D 4 1 5 2 3

[ Turn over
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uligué Igp uLtq.ﬁd\: 2 Leér Qurpgdl, &G Qar@éstul@aier GHiGsmens
Qeram@ sflurer alloLows Csibosd :

ucigwes I uligwés II
a ared omuiy " 1. smhpy seursd
b)  ewlLrsmaimgfhur 2. asfle Béeh-
€)  aEuG HTGH) 3. dvgord® aorrGuome e
gumfiiy
d)  oGsrGsmb ‘ 4. HeoasCaryGrmiied

swTflsaLLED @L-b

e} gwullenms cusmev NeiTenren . 5. pruguy QEprdee.

P EPs e :

.a b c d e
A 4 1 2 5 3 ’
B) 3 1 2 5 4
0 3 5 1 2 4
DD 4 1 5 2 3. |
The bond between phosphate and hydroxyl group of sugar is
Al Hydrogen Bond B} Ester bond
C} Metallic bond ' D}  Hydrophobic bond.

uren@ul whgd sTssaTiléd 2 drer waplgrsdle Qszredlsde Cu o_ciret
Slemesriuy
4 eaplgge Seneoriy B}  erevitt Nememoriy
0 e Qarsl Jenarriy : D emantGrrdGurile denamiy.
Consider the following statements about Larynx of birds ; |
| I. Larynx is supported by 4 pieces of cricoid cartilage
II.  Thyroid cartilage and vocal cords are absent
III. Larynx produce sound in birds
IV.  Arytenoid cartilages are two in number.
Of these
A) Statements I, II and III are correct
B)  Statements IIl and IV are wrong
C): Statements I, IIl and IV are correct
D) Statements I, Il and IV are correct.
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upevaifldr @raeaemer uplu Epsean sadpssoam snd sflurar cﬁlsmt..smtu
Carpols® :

} I. . @roaumereu Brdng sussetuaybahedldlenpub srigd:
II. GsLwéssfiflenpub whpid GTé BT GDrg '
. upmeselles @Fdaemer el & (LD
V. @rav® sfoyssdifeapub 2 srerg.

@eupyei

4 appser I, I whpd I efureramey

B} . sapmset I obmb IV geupreanena

Q)  abpest 1, Mwppd IV sflurarmes
D) eappser I T uppd IV efuraenea,
66. The dental formulae of Horse and Dog respectively are

3143 2133 13143 3142
A 3773 and 5733 B) ‘3123 24 343
. 3142 3143 ' 3124 3142
- O 333 and 3743 D) 7o32 2nd 3743 -
Gy b pre Geupiler ud @955]’1'-9 @mmGw -
n 3143 2133 g 3148 o 8142
3143 2000 5733 3743 PP 3743
o 3142 . 3143 p 38124 . 3142
3142 PO 3743 _ 1024 °PO® 3733 -
67. Pearl essence is produced from '
"~ A) Shark skin | | B) Scales
C) Pearl D)  Fin rays.
WwHsE erp aHeOEhs 2pusd Qelwiu@dng ?
4  aprellar Csme Bl Qsdléseir
) QA  wsa | D) gB0y erguibly.

- 88, Which of the following is a wrong statement about frogs ?
A} Males croak loudly '
B) Vocal sacs are absent in females
C) Nuptial pads are present in males and females
D) Males are smaller than females.
galenetenw) LHHL FeupTer eursdlud g 2
Al T geusnen FHBHIOTE @eﬁl Tty
B Gueii geusmendés @I U Gors
C)  syete whpbd Cue sauseniad sealgdam® Lm@
D) gy geueer Quen seusveneuali Siug.

E ‘ ' : . : [MWer
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The neural gland in Herdmania 1is related to

A} excretion B) respiratibn

C) nervous system D) digestion.
Clant@Cueflurele Hydrd srul ogBam® QT remLwg ?

A sfle fasib B)  &euTsl

C) myby weTl e D)  Osflorens.

Muller's organ is also called as

A) Liver B)  Green gland

C) Sinusvenosus D)  Wheel organ.

et 2 pin e (Ssu@ Quuwit |

4  saalTd B) uéems syl

C) engemen 'afﬂ(%asr;r&eh: ' | D) e&&p 2 Q.

Goblet cells in Pheritima secrete

Al Albumen 7 B) Hydfochloric acid

C} Mucous | D) Collagen.

o%@ﬁrﬂmwfraﬁ’l@ 2_sfren GamiGloo Qedmer aansé ay&dledipen

A ycoe B  ean Cyrg@enmié ufleud
Q) Gerenyp @gsulb | D) Qarergebr.

The number of teeth preseﬁf in a single row in radula of Pila globasa is
AJ‘ 5 _ B) 6

a 7 ' ' D). 8.

auer &CerrGursmalley pr@emraid §® aufleeldy 2 sren Lpsefier erszfmcsuﬂa%@&
A 5 | B 6

Q 7 ' D} 8.
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below :
List I
a) Leishmania donovani
b) Trypanosoma cruzi
¢) Leishmania brasiliensis
d) Leishmania tropica

e]  Trypanosoma evansi

8 | Codes : |
! a b c d e
. A 2 5 4 3 1

|- B 3 1 4 2 5
' C) 4 5 1 3 2

D) 1 4 5 2 3.

utgud I uigue Holdr Qurpsd, &Cp
Qeran® sflurar el mug CorsEsd :

uCgwe I
8) efeayCueaflur GrGerreuredf]
b)  wfliCearr@smwr Gwdl
c)  afeiyCueflur ACyAeSuerdley
d)  afeiyCuoeflur wrroler
e) ghlouGerrGamor Gleurerdl

ePiPset : _
a b c d e
* A) 2 5 4 3 1
B 3 1 a4 2 5
Q) 4 5 1 3 2
D) 1 4 5 2 3

74. Red water fever is caused by
A) Isopora hominis
C) Sarcocystis linedamanni
Seuiy Bt smiissedler sryeamh
8)  9CsrsGumyr Capmiblaflav

C)  emiCGandleavg ev eneveirL ettt

B)
D)

B}
D)

M

S-07

73. Match List I correctly with List II and select your answer using the codes given

List IT

" Surra disease

Kala-azar
Delhi boil
Espundia
Chagas" disease.

Qar@satul Geren GHWHHameTs

UL W I

1. aigr Gemb

2. & e _

3. OLeell Gamiuemd

4.  erenUGTOTIQWIT

5. . araren Gpmi.
Babesia bigemina
Haenoproteus.
Cuufflur anuGlgpsoflor
Cap CarmyQrm g wev,

[ Tum over
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75. Who first proposed the natural classification based on structural simﬂarlty ?
A) Carolus Linnaeus B) John Ray
C) Haeckel D}  Cuvier.

Sy GueiUTE g OuenLulléy @mmmaﬁa Carlurlgener wpser el
pebrQomfibgeut wri ? .

A  &Cnreey NCarwen B} grer G
0 ar®éssw D) eaaflud. _
76. Which one of the following taxonomic hiera chies 1s correct ?
A)  Cohort, Class, Order, Family, Species
B) Sub-class, Super-ofder. Sub-family, Super-family, Genus
C) Cohort, Order, Sub-order, Family, Species
D) Family, Super-class, Sub-family, Sub-class, Species.
Epssan. cuesiur@ ugHeoede ag sfluror auflamesdd S bbaeTeng 7
A Garapri’, eugly, anflens, @@ibub, Hided
B) - &paugiy, Gwe aflars, &0 ®Hub, G @@EbLD, Guileriy
Q) Garapmil, e, £p suflas, GEiun, HpHeb
D)  @Gbub, G eugly, & &BDLD, & su@uq, Siplestin.
77. Aperson is hurt on kicking a stone due to
A) reaction B) mass

C) velocity o D) momentum.

GO sadlaean 2 oz sEbGuTs POHUGEHS g gHUPE THTTE 7

A afltalener B) flep
C) deneCGesid ' D} 2 psb.
78. Which of the following harbours is not a natural harbour ?
A) Cochin _ , B) Chennat
C) Mumbai D)  Paradwip.
_ afgpéwsrrgjlb gisoppehsdie aigepupsd @ujﬁ;@eﬁwns&r' ZISD(PHID Hevey 7
A Qansdlen B Qedavenes
C) @bew E . D) urggl.

[A]
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Recently one Indian cricket playef has become the Sixth Batsman to score
10.000 runs in Test Cricket. The name of the player is

. A) Sachin Tendu_lké.r B] Virender Sehwag

C) Sourav Ganguly D) Rahul Dravid.
sfusde @pdu HNsGsL affiseiler 10,000 grLhsmer Gl dul UL Bisefle
TH&S ypreug e aiyflén Quuit erebrer ? '

A s&dler QLGuDesT B «iCyipdly Coeursd

C) Glgenyel 5@@65] D) gred Sgreall.

The battle of Wandiwash was fought between

A) Marathas and Portuguese | . B) the English and the French
C) the English and Portuguese D) Marathas and the English.

aubgeurdiit Gurt writ urpée e fle perCLppg 7

A oprigutss vppb Gurtiadfuisen

Bl gyuflGauiss wbpid NGIT EhaHemyTaer

C)  epudlCauisst wppb Gurtésdfutash

D) wprligwisel whnibd hEGewrtael.

Linear programming is designed by :
A B.F. Skinner B) E. L. Thorndike

C) L.P. Pavlov D) Clark L. Hull,
Crireu I Lpens o meursduair - '

A . au. evdlerert B §). a. griteien_b
C) a6, 8. WTELT ' D) dlenmité. sréo.- SIN0.

Which of the following first identified the Secondary Education as a weak link |
and suggested improvement ?

A) .The Tarachand Committee ( 1948 )

B) The Secondary Education Commission (1954 )

Q) The University Education Commission ( 1949 }

D) - The Education Commission (1966 ).

EPéHHoL GUEHEHET 5l @sml_cﬁmeuss soedler cugabp Hevevenu @,pgsm@g.eﬁlmr
s Pibal, ssee CoLuRdS afiaums sablug ? :

A sromahg sblg ( 1948) _

B) @mL@@mé soals G (1954)

C) udsmabaps saalls Gu ( 1949)

D) &éalls G ( 1966 ).

[ Turn over
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Intelligence test scores are reasonably stable after the age of

Al one B) two

C) five - D) twenty. : i
ahg euwdbgialen Sersaliu@b perantiaé Csramen wElLset Hemewrarg 7

A g : B) @uyeo@

O  mbw - | D}  @oug.

Which one s not an S-R theory with reinforcement ?

A) E. L. Thorndike'’s theory B)  Hull's theory

C) B.F. Skinner's thebry D} Tolman’s theory of learning.

UYL HBYIL BT Gniq i HITCTOTLGo-FleURIS 6T @s’ueurrﬂg Geretans

Al E. L. griaen_é Qareiens B) amé Garerens

C) B.F. evdlerant Qareieans D} GLréwefen ahper SeTeians. '

The emphasis of National Board for Adult Education on Curriculum is that it
must be ‘

A) need-based B) functional
C) job-oriented ’ D)  production-oriented.

wEICurt sahalsarar Cadw aurflud sedunissio smsSaLy smasdl L b Sjeow
- Geustong g

A Czemeudlest sygrivem_ e Bl Glewdurligsr Sygluenlié

0 CGoueaarilomu Crrad - D) 2 pusdeow Cpred.

World First Aid Day is '

A September 11 B) September 12

C] September 10 D) September 9. i

2.8 WwesNgal Hath eaetug)

A  Qsilbut 11 - B Qelcbur 12 ) !
C) Qs ibur 10 _ D) Qeucibuf 9,

For the following scores
10, 11, 13, 10, 15, 17, 18, 15, 10 .
the value of mode is

A 10 B) 13

C) 15 S D) 18.
Fpsaan. LALQLTSEHG WHEH LU SaTHHE :
10, 11, 13, 10, 15, 17, 18, 15, 10

A 10 B} 13

C) 15 D) 18.
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Educational Technology means

A) Technology in Education . B) Technology of Education

C) both of these , D) none of these.

saal pULailud adiug | |

A saaldud pruaiud B sdeldler pLualud
-0 @!JG&SIG\GLL; D) @eubmer agapfidame.

Which one of the following is not a cause for forgetting ?
A) When something learned and ndt used repeatedly
B) Interference with present learning _

C) Lackof reorganisatlon of the learning material

D) Learning on the basis of short-term remembrance. '
'aﬁ'p&s:cu‘m_cug}@sﬂ ag @m@ IDDENSEHTET HITJERTDOE® ?

A spposd Hiebu HEOU LLETLEZETSH

B shCurgy sdné Caramgeuudlss FOUTH

C)  &pHper QUTEBLEET WY SHemolly ClFTSS

D) epdu sre Hoeaeals sioualLdiéd sHug.

When the reason for acting is in the action, motivation is said to be

A extrinsic B) intrinsic

C) | extrinsic & intrinsic D) none of these.

QEweuTL g Hames sTyemib CleudLGHSILIGID QuFgEl, SHBheTe wabsILGEFBO
A G\meﬂﬂqgﬁ mﬁ&ﬂu@&,@g@ .

B) a._snsmrrr;bg, 2615 &HUUMSHSN

C) Geusfiiyp whHpo 2 erenTihs més&uu@g;g.]gdu
D) @m@ueﬁ e gieybléoanc.

National Integration Day isv
- A) November 19 B}  December 19
C) September 19 D} May 19.

Capdu grhdomwniy Herd aatug
A)  mpeubuil9d B)  g&burl9
0 GeliLbuil9 D) Guw 19.

[ Turn over
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The importance of Teacher Education was first emphasized by

4A) the.Woods Dispatch B)  the Hunter Commission
C)  Calcutta University Commission D) the White Paper.

2 fut soalfidr psdusgasons waler auduynsdug

A aleév QL ev@ul i 7 B) amanl i sblayer

C) sasgsn LSS R&E s siflaye D) - Qeuehremerg gmei.
Taxonomy of educational objectives was first devel_loped. by

A | Mager B) Skinner

C) Bloom N D) Thorndike.

sevall Cpréabinefer URDSIUTL I heoT (PHET (p5edlch aqemmég;sﬁr’r :

A Guar | Bl  cvdlérant |

C)  yeapid D} gmiorend.

SSA is established for achievement of

A)  Elementary Education ‘ B}  Secondary Education
C) Higher Education D)  Vocational Education.
SSA ereitug) Spésiouppe ot aybsTs FHUBSSULLL g 7

A Qgr_sss sded B) @ flowns shal

Q) s wisaal : D) Qgrfpuldpd seal.

Whose philosophy is characterised as “Naturalistic in its setting, Idealistic 1n its
aim and Pragmatic in its method and Programme of work” ?

~ A)  Sri Aurobindo ‘ B) Gandhiji

O ‘Rousseau ' D) Tagore,

Seowifle Gupens Q&zrreﬁsmasmmu.;tb Cpréssdle spsgs Qsmdsamuyb wenp
wHpd SQsweuT Gs SLsdéd LuaTeTarus Qereiaseuyb 2 sren_sdu 55519.»9
W HEL W) 7

A F spedpst B)  smidl ogser
Q) wCaur D) sremt.
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Multi-factor theory of Intelligéx ice was developed by

A) Charles Spearman B) E. L. Thorndike

¢) L. L. Thurstone D) Dr. J. P. Guilfeord. -~
pieremfane elleréGn Lo sryeé QeTeTans e (Bg,lr;b@aﬂggmﬁ‘

A smieven eoSwtioest : B) E. L. gnicnené

C) L. L. gfieoer - a D) Dr.J. P daGuri@.

Consider the following and chuicse the correct choice :
1. . Corynebactertum diphtheria
1.  Bordetella pertussls '
III. Streptococcus pneumoniag
IV, Vibrio cholerae
V. Salmonella typhi.
Of these
A I, 1l and IV are Gram positive bacteria
B) I, IV and V are Gram negative bacteria
C) I, II and Il are Gram positive bacteria .
D) L IV and V are Gram negative bacteria.
Ep e T ameasmeneT s sflurar afla_ew Ggg;ﬁ@g@
1. emidlurdiefud gogfiCy -
I uriGL i G der GQuisvedls
. evohk GLGlrarssay ﬁ@mrrsaﬂwn’
.  aflufiGur sreGy
V. eréGuorarder aiJ.

- @)eubmyei

A 1 1lopgod IVaElt}rrm Gpf: uréefur

B I IVopmb V &ymd aHf urseflur

Q I, Nopod M &yrd Cpfl ursefur

D) I IV wppd V Hgr e urr e flwr.

Domestic house cats are important in the transmission of the protozoan that
causes _ :

A) Dysentery B) Malarla

C) Toxoplasmosis D) Spinal meningitis.

afL@uyemer apebd HLHHULED q@grrl._@l_rr@&rrmmﬂscrrrsu 2 meurgd Cumi
wrg 1 .

A £sCud B}  wGaflur

O urserdemmawd D) s&o@ alésb.

[ Turn over
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99. The colour of E.coli colony on MacConkey agar medium is
A} blue B) red
'C}  white _ D) colourless.

wearerdl sefle euentsaiiul L 7 Carena srealific Bl

A !fm . B) ﬂmﬂq
C) Qeusranen : . D) dlowpog.
100. When mycolic acid is present in the cell wall of the bacteria which of the
following is used for staining ?
A)  Crystal violet stain B) Safranine stain
C) India ink stain D)  Ziehl-Neelsen stain.

urbefurafler Qewsaled s 2616 weTeld ybleb ST LU LT 6
PpCubpeushers aecumaurar srub LweSTU@SIDg

A} Aflsvés emeuwer FTwid ' B)  erdlyeflen smwibd
Q) @pdur @ené smwid D) &dlé Bevsen erub,

101. In the diagram of pituitary gland provided below, the part labelled as 'X refers
to

A} Optic chiasma « | B}  3rd ventricle
C) Parsintermedia D) Pituitary stalk.
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Qar@ésnur L Nyrrf sl weogu e X adn @RissL0CL ur'ra;&,é’lc{sr

it
A urteaué GHSE B) psiipreug OeussonMadlefr
C) uwmiev .@sﬁ‘rl_mﬂmru.lrr . D) Syl d g,

102. Nobel prize for discovery of peniciliin was awarded to
A) Alexander Flemirig and Emest Chain
B) Howard Florey and Ernest Chain
C) Alexander Fleming only
D) Alexander Fleming, Howard Florey and Ernest Chain.
. CueNffmer sc@lyssshers urGse Cprud ufla sug)rﬁlﬁuuL_i_g ?
' A eOeseuraon it Sflerfit whmid erteaul. Gigules
. B) Gareumi( Su@ermd HnID erirereul. Gleullesr
O  S@eseuraori Sollembli o Gib
D)  s@wesmran_i Sflembii, Camari@ uQemmh wppib erferau Geuder.
103 The active form of Vitamin D is : ‘
A)  7-dehydrocholesterol B) 25-hydroxy cholecalciferol
C) 1, 25-hydroxy cholecalciferol D) 1, 25-dihydroxy cholecalciferol.
emeu LBl it DQ&u.ne‘oﬁ@@smea | '

A 7-geant Crramesug e

B) 25-wanlrr&flGarelardddeGipme

Q) 1, 25-eapLgré&BaTellarddlssGlunme

D) 1, 25-sLeaaplyrsdGaraliarddlssbuyme.

@ w ' ‘ : [ Turn over
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104. Which of the following is a progestogen-only contraceptive ?
A)  Enovid B) Ethinyl estradiol
Q) CoCP | D} Minipill.
&\péaadoT_ euppielr HErTORaCLIGIme L Gb umsmY STIHS SHSSOL HHE
&gl 17 :
Al @Cearmalil . ‘ B} eajdlesency mevigyemLwme
C) COCP : D) daNuds.
105. Transfer of ovum from a donor into the fallopian tube is called
Al ZIFT B) GIFT
Q) IVF : D)  IUT.
@@mtﬂs&r ST Ozdeney mﬁ;@mrr@mrﬂﬁn uBemilwelr @priflés wrhpeupet Gt
A ZIFT _ B) GIFT '
C} IVF D]‘ IUT.
106. Which one of the following is secreted by acidophilic cells ?
: A)  Thyroid stimulating hormone B) Follicle stimulating hormone )
C) Lutenizing hormone D) Prolactin.

Sibleuppen_w Qedseiamed arssiubeaug g ?
A  egymi® 2 hg eorrGomer

Bl s@yleol awertédl gram@ib apmiGuore

C]. g aner Sl e Guomedr

D} yGprGessi iget.

107. The yield of calories per tablespoon of honey is approximately

A) 30 calories , _ B) 60 calories
C) 120 calories - D} 200 calories.
6 Cakarcng Gz erreflurs adiuere &Gamf oy hnae QeTGéed 7 )
A) 30 5Q8emrl _ B 60&Garfl
0 120 sGarfl D) 200 &G,
108. The scientiflc name of European bee is
A) Apis dorsata Co B) = Apis florea
- C) Apis mellifera - D)  Trigona iridipennis.
Crmilu Caefllear smlaflwer Quwit erdveas
A glev LaiGelimr B) glev oSUGeurPum
C)  giilav GuwaallCyr | D) geyGararr Gy Clisreflay,
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Genus Penicillifera, Ocinara, ’Iheophilalbelong to
A)  Fungi - B} Fishes
C] Bombycidae | - D) Stingless bees.
Guefflaal Gy, gpélernmgr, FCuraLier 9 &éu @dm&:sfr agenen sTibag
A uews B Senser
C) ur}md\é]csl_ D) Gar @puubp Gsef,
Eri silk is produced by
A)  Phylosamia ricird B) Antherea perniyl
C) Antherea assama - D) Terminalia tomentosa.
anfl L@ 2-HusHl Csleug |
A SaBevrsmblum e dlehl ‘ B pybdfur Glurtefldd

Q) yndlflur g evevmor : D) GuhBlereflur GLrGuoarGLrsr.
Which one of the following is a bacterial disease in fish ?

A Gjrodactyliasis B)  Argulosis

C) Dropsy , | D) Ichthyophttﬂrlﬁs.

Sipahameto -@a‘n@ Seflée urdefureurd 2o r@id Cpmi

A aslyrirseLduralidy B %ﬁ@(%érreﬂdu

Q)  gyrud | , D @edCuriemghusy.

Pokkali is a term associated with ‘ |

A)  Bheries in West Be_ngai B) Rice fields in Kefala |
C) Trout fishery in Himalaya - D) Sericulture cum fish culture.
Guréamel eraTug aHoaTH GDSGD 1

A Cupe m@mnm&,é}a’n Grfleny

B) Gagerralled é_ﬂfﬂé QWG 6l

0 afwrewreller gy, LSG&Tmafr?ﬂq

D) e euemtiGur® Ll Gl ésl et Bge.
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114,

115.
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Montreal Pfotocol is related to
A) Snow-blindness - B) Acid rain

C)  Chlorofluorocarbons ( CFCs ) D) = Soil erosion.

wret_flud sifléams aerug TECa(® QgrLiryenwg 7

A uReod o B sfle weyp
Q) &CamrGyrsoLyanGrmramiueit y D)  war oyftuy.
Chipko Movement was started to conserve

Al trees o B) desert

Q) sol | D) grassland.
AuBsr Quésd Tgeean LTgsThe gludBEILL LG 7 |
A Lm;rrﬁlaaa'f B) LITenaveuesTD
C) wer _ D) qd:@rcuﬂﬂ.

Consider the following statements :

Assertion (A): .The pyramid of energy is always upright.

Redson (R}:  Some energy is lost as heat at each step in trophic level.
Now select your answer according to the coding scheme given below :

A)  Both (A) and (R) are true and {R) is the correct explanation of (A)

B)  Both {(A) and (R} are true, but (R} is not the correct explanation of (A)
G (A)is true, but (R) is false

D) (A)is false, but (R} is true.

- Epseramud aursdunsaer souaf ;

appy (A): 24 DDS Faidy aiQUTapgd Guods Gpréd) Sy

angeood (R) . geuGleurg g Grrdofis Lf,]meuuﬁlgum ffigerey Hhpe Gaiiuwrs |

Auéaliuddpg.
Epdargoud Gl g sfurer oSev_eow ngm@g@

A (A) vdpbd (R) GuanGip e wppib (R), (A) St sflures aﬂmé@mrr@fn

- B (A)wppid (R) Gram@id s, Seorrey (R), (A) Bletr sfluresr aflersawndia

)  (A)ed 2 eme (R) geup
Df (A peupy guermés (R) af.
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116. An electrostatic precipitator is used to contain
4} air pollution , _ | | B) ﬁrater pollution
C) - thermal pollution ' D) radioactive pollution.

aasl ComevLmiigé d@uu.q.mrré,eﬂ aaL@Uu@{z,gjmg

A smHy wrsuTE B} @ wreur®
Q) é\mm wr&LUTE . D). sgiraléa braur@
ll'f. The National Committee for Environmental Planning and Coordination was
| éstabllshed in the year
| A 1984 o B} 1972
| O 1947 | | D) 1988,

Gpdlu sppéGpd HL wHpd GEhdloaiys U ThE 24EQ Heuiul g ?
A) 1984 B) 1972

C) 1947 | D) 1988

' i18.' The phenomenon that the tail, snout, ears and legs of mammals are relatively -
shorter in colder regions than in warmer regions iIs explained by

A) Ber_gamar_l‘s rule _ B) Jorden's rule
C}) Gloger's rule - D) Allen's rule.

eeit SyCsesdler curpd urgmigaseié aurd, DeipsE, argisst LHOD BT
Qauniniliy@sesflaysiararausaer ol Ford GOPHHETS STEILLED ETLDmS

elenagn el .
- A Quitdiomesr adg) | . B) g ér aflf
’ C) demmet eﬁlﬁl D} %s\as&r aflg).
119. The dentition where the tooth is embedded in a socket of jaw ‘.bone is
A)  Heterodont B) ‘ Diphyodont
C} Thecodont . D} Monodont.

grenL erguibLS@Piicy Libaelr u@éaﬂu&ﬁ.@ggnm, usevsnwidlesr Giuwrt
A QeapgGrm e’ ' B e feenuGuirrese

O {&Garrurm’u_n'_ ‘ D) CurGerm_mem.

}7 E A | : " [ Turn over
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Which one of the following statements is true about myosin ?

A)  Light bands contain myosin

- B) Anisotropic band contains myosin

121.

C) Iband contains myosin

D) Dax;k bands a.ré called I band.

amwCurflener @fips afluren aumadlub eg 2

A  Qesfliucysefie ewCurdld sremiuu@i

B) suwefle Hpiuiuyeaefd ewnCurildr sraoriu@b
C) Iucygseid ewGurfler sraomiu®b

D) sufulgsst I Lligser sreoriu@ib.

Serotonin is secreted by

A}  Basophils B)  Eosinophils.

G} Neutrophils D) Monocytes.

122,

(&)

QepCLreafldr asiums Qeasee arssiuidpg

A  GuBsrdoié B) rGurfi@anmsoiiéy

0 Py Cymdaie D) CurGerens a6

The average life span of a human RBC is

A) ~ 60 days B) 80 days
Q) 100 days D) 120 days.
ma&ﬂg @rss Reuliugmale surrbp aned gymafurs

A 60 rgnllsash B) - 80 m_rra;aasfr

C) 100 priselr D) 120 priaesf.




35,

'123. Match List I correctly with List II and select'your answer using the codes given

below :
a)
b)
c)
d)
€)
Codes :
a
A 2
B 3
Q) 2
D} 4

List 1

Natural live vaccine 1.

Live attenuated vaccine

Toxoid vaccine

2

3
‘Polysaccharide vaccine 4,

5

Inactivated vaccine

s W
(I SR -
—

L0 DR ) S

1 4

2 1 5 3.

List I1
BCG
Simian rotavirus.
Hib vaccine
Pertussis vaccine

Diphtheria vaccine.

ucgue I utgue MeLd Quresd), &Gy CQar@ssiUferer DG aemers
Qaraa® sfure alo_ous Caibes@ : '

utiqué I
@luheme o Wit sHOY LEDHSI
Geusild GenpShaiiL.
2 I $BUI GBS
Lr&amuQ 5®|L||.I| wmbHS
urellarsaar® SO0 DEHS!
Qawslpsaiiui L sEOY tb@iagj

a)
b)
c)
d)
e
GPdGser :
a
A 2
B) 3
) 2
4

D)

N~ =W
S IS | B
M oW N o A
9-"-&-»--:—-

ucquwe II
1. BCG
2. &iblwett CoriLm emeuryehy

3.. Hib SHUL \(BHS

4. QuiLéev sHuy LEHbE
5. wogfur sGLY BG5S

" [ Turn over
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124. Increase in blood pressure causes
A)  release of renin
B) activation of the JG cells
C) increase in glomerular filtration rate
D) decrease the glomerular blood flow.
Qb5 Swbsbd SiglBwranTd ghuGeaug
4) Greflér sré&slu@D
B) JG Gleaser gremLu@ge
G eleamupe oy Cassdaar aﬂmrﬂ&;é\s&rmg
D) @Gamome Grss @LLL..éé\Gmsﬁ GODEESTDS!.
125. A wfong statement about lysozyme is
A} it is a proteolytic enzyme 7
B) cleaves the peptidoglycan layer of bacterial cell wéll
C) present in all mucous secretion
D) it can lyse gram positive bacteria.
onGaTamsd GHSS Seuprer b
4 @8 o6 ysabd OfCETd
B) urseflur Qe seauflé o sten QuingGLr é.]m;wé,arrs&r EYCLEAE T T EEALE
C) adells Coray Hrousdaind sramiu@o |
D) dprd Cpfl ursefluree Hevgédlarps.
126. Waldeyer's ring is a
4)  Primary lymphoid organ
B} Cutaneous Associated Lymphoid Tissue
C} Gut Associated Lymphoid Tissue
D) Nasal Associated Lymphoid Tissue.
TG cuememuib o edTUg
A g Bloe ibdeumiE o piiy
B) Ggre smihs Nbsuri® Hs
.C}l GL& smiths NbSuTlE Her
D)  (pés: @i srihs eﬂmo°ouﬁuh® dlar.
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127. Match List I correctly with List II and select your answer using the codes given

below :
a)
b)
c)
d)
€)
Codes :
: a
A
B) ‘4 B
C 2
D) 3

List I
Biradial cleavage
Bilateral cleavage
Radial cleévage
Rotational cleavage

Spiral cleavage

w o v

1

S A £

1 3

2'1'5

e

4
2
5
4

o s N

List II
Mammals
Rotifera
Ascidians
Ctenophbre
Amphibians.

uliguée Ig ulgué I 2L Qurmsd), &8 OETESHILL Geien @gﬁ'luf@msmeﬂ&

Qarassi® sflurer alon_owg Carbosd :

ucigweée I

e <y SeralCumas

Bisuss VarelQuEsd

<7 Wenalloumsd

shn Jeralloupad
g(metr UlenallOumes

a)
b)
c)
d)
e)
@gS]lﬁ@éeﬁ :
| a
A) 1
B) 4
a 2
p) 3

b ¢ d
5 2 3
3 5 1
1 a4 3
2 1 5

:Fh a N e

usgwée I
1. urgumligselr
CymigeoGluuym
S guréser

e @esrmae@uimyr

A S A

@meurpailee.
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128. The law that states “the rate of cleavage of egg is inversely proportional to the
amount of yolk it contains” is

4A) Sach's law B)  Hertwig's law
C) Balfour's law D) Pﬂugef's law.

@,uL_sml_uﬁ}sur NenafGILIE e (‘Beusu: Sflayeien s amaﬂm Saelpe ergt
alflzsdle Qmeeh adug

A sr&ev alif) ) B) Geapiiels ofg
C)  umédoumst aﬂﬂ ' D) cuyepgt afld).
129. The action of which of the following converts éohes_lve ends into blunt ends ?
~ A) DNA ligase B)  Alkaline phosphatase
C) Reverse‘ transcriptase : D) Sl nuclease.
SHLOD (peeTEamen QLB (peresmenTs DTHHL uws&ru@g‘;gjmgj'%r@ ?
A) DNA eaQ@ae ' B) &y urevuQLen
C) JenGprag q.qne&reiuaﬁrﬂﬂGL&u D) Sl ﬂgé&aﬂ@me‘rﬁ.
130. The first therapeutic product produced by means of recombinant technology is
A}  Somatotropin B)  Humulin
C) Somatostatin ‘ D) B-endorphin.

WPae waelle m@j('barra,an& G\grr@mr;,m.uw epad swrflésiul L wEHgn GeoTb
urlbg CuT@st ergl ?

A Qerom CurpGrmien B) - aflypees
C) Gemol CLrevGiL L 1g e D) B-Gm'm_rrr'ra"olj]sfsr

131. Single base substitution at which codon position in beta globin gene results in
sickle cell anaemia ?

A 4 | B 6
C) 8 : D} 10,

Jiir gCemmier gfefler arpp _r_fﬂmsuuﬂgumsn (Basrrl_n'saﬂsu SDOD (e BlarTéHad
Baphaere siflounds Ged Comems aedm Crri gHuD 7

A 4 Bl 6
Q) 8 D) 10.
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134.

' D) both Homozygous and Heterozygous conditions.

135.

39 ' 8-07

XXY sex chromosome occurs in

A)  Klinefelter's syndrome B) Turner's syndrome
C) Normal human male ‘ D} Down's syndrome.
XXY urés &CrrGunGanid aeueusma SengCrrd 2 e _weutaeilés 2 ereng ?
A AavererGudfav e Gy B) ireiev HengCymd
C) Quéurer weaflg &0 D) Leyatev HAergGrmb,

Wrong statement about Law of Dominance among the following is
A) explains expression of one of the characters in F', generation

B} characters are controlled by factors

C) in a dissimilar pair of factors, one member is dominant and the other
recessive ‘ ' ) S
D} does not explain the proportion of 3 : 1 obtained at F, .

FEGssew lfeow updlu geupres QuUT&HEND :
A msa soagople (F,)@e udiyssils g uemy Qeualllupgene
alené@Fns -
B) umyseer sryeiest sLEUUASEFDS
C) gsdyrs Qo srpailasiid geam PRGSSET DY LSTHYD who\preiniy
. pbEGUUEITLEILWETS @B/GEGD
D) @emd geegpeopidd (F,) deoLéed aldgrssmyd 3 : 1-g allenaarg

An allele is said to be dominant if it is expressed in

A Homozygous condition

B) Heterozygous condition
C) F, generation

.................... Hloaule uzty Qeaefliu@lh Gurg, e e guE
SeTEMOWEIL ST & SH(HSHLLED. ‘

A gis wry Haoe Bl GeamulL wyy e -

C} @uaond (F,) gooeyap D} s whpd Geugut- iy Hlene.
Which of the following is required for binding of two sub-units of ribosomes ? - '
A Ca* B Mg?*

C Na* D) Mn*. |
aopCurGenbaefidr @ran@ s Ho@smer Hamasiiushe GaenculiLiBeug) TH ?
A Ca* B) Mg?* o |
o Na* | | D) Mn*.

[ Turn over
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136.

137.

40

Because most of the amino acids are repi'esented by more than one codon, the
genetic code is

A]  unambiguous B) specific

C] degenerate | D)  universal.

Qu@burerar HfCearr  Sleokasenen ponée CupulL Garirdraser
Biteonilougré, wrys eOd@ aatug _

A  Bwourepb ssawiliderss B) Flienwrerg

C) Sz bss D) s asetmelug.

Match List I correctly with List II and select your answer using the codes given
below : : ' -

List I List II
a) Diplotene 1. = Occurrence of crossing over
b)  Zygotene 2.  Terminalization of chiasmata
¢) Diakinesis 3.  Formation of synaptonemal complex
d) Leptotene 4. Dissolution of synaptonemal complex
e} Pachytene 5. Compaction of chromosomes.
Codes :
a b c d e
A 5 1 4 3 2
B) 4 3 2 1 5
G 3 2 5 1 4

D) 4 3 2 5 1. | ,
uCgue I uigued Mo d Quresd), £8p Qarhssuueiar gRliGamens
Qareo® sflurer aflomug CaipGs® : |

Ul gués I ulgué I

a) guGarmeet 1. ensGadlt wrHp i5l& pey
b} asGames 2.  esureunrLrals wpaandlusesbd
c) oLwurensedlen 3. esamiGLIED Geflane 2 (Geaurge
d QelGLmedt 4.  eosamiCrib GoLHon Gpsess
e urades 5. @CrrQurGsmd Qe yliLanL S,
@Pld@ser : : '
a b c d e
A] 5 1 4 3 2
BB 4 3 2 1 5
C) 3 2 5 1 4
D) 4 3 2 5. 1.
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138. Match List X correctly with List II and select your answer using the codes given
" below : ' '

| List I
( Centrifugnl force )
& 700g |
b 7.000g
o) 53,boo_g

d) 1,05.000 g

| Codes:.

a b
A 4 3
Bl 3 4
c 3 4
D 2 1

2

4

d
2
2

:-1- |
3.

AN

List Ii
( Fractions )
Part of microsomes
Ribosomes
Nuclei

Mitoch_dndﬂa.

ucgué I ulgud oL e Qurpsd, £8yp QarpssiulBerer. GliGsmens

Qenem@ sfurer ol _ows Carbsd :
BETTT 'S S

( mwhaﬂ@&@ aflens )

a 700g
b) 7.000¢g
0 53.000¢g

d 1.05,000 g

@L\N@m :

a b
A 4 3
B 3 .4
o 3 4

2 1

D}

O X L -

.co.-mmg.

L

ugwe I

( ORssL@d LGH )

ew&CyrCerbaeiids G LGS

s CurEami

25

el e aong M.
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139. Who first explained that new cells are formed from pre-existing cells ?

A)  Schleiden ( 1838 )
B) Schwann ( 1839)
C)  Rudolf Virchow ( 1855 )

D) Matthias ( 1838).

Pl Qsdser uopu Qedvadldiphs Carapd aaLgmear WH®T WG
elen s dlweurt

A avdlafen (1838) |

Bl evgeuredn ( 1839)

C)  ®HLméicol aliré@sen ( 1855)
D) wgduren ( 1838 ),

140. Extensions of plasma membrane into cell in the form of vesicles, tubules and
lamellae in prokaryotic cells are called

A) Pili B) Mesosome
C) Fimbriae D) Capsule.

YBrrGaflGur.. Qedaeidr Nammavnr seineEhe st Q&sugum @L&bp G
wHpid LU Gash Curenp B Heaher Quut

A eoued - B) B5CsrCemhd
Q &SR | D) srtevye.

141. In frog, Carotid Labyrinth is located at
A)  Exteral Carotid Artery _ B) Internal Carotid Artery
C) Systemic Arch D) Dorsal Aorta.
geusvenifier &Cymiin@ mrnﬁlfﬂ'gg eThiE 2 efeng) 7
Al uyp &GrTLE pwed B) 2.6t a8ym iy { sned

C)  Slevills cusmeray D) (ws@iyD QuEhsDT.
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143.

144,

145,
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'In Cobra, which one of the following supra-labial shields touches the eye and
the nostril ?
A)  Second -B)  Third
C) Fourth ' D}  Fifth.

Caruprale, ans GuurT-Callud o Cua-2-50, 566, s mp@m gwé\ﬁw«nmw
Qam_{ b EHSE0 ?

Al  @peeoTLreug B) petpreug

C) preTHTeLg | . D) ghsmeug.

Type of kidney present in Petromyzon is

A)  Metanephric : : B) Pronephric

C) Mesonephric D) Anephric.
Quiprewsrafler Hnyasder cuams

A QuiLrQpsrfs B) yGrrOmdeufs
Q) HiGanrQipslufis D) aGpseufs.

In scoliodon, the small thick walled muscular chamber next to pyloric stomach
is called

A) Bursa entiana - B) Blind sac
C} Rectal gland _ : D)  Scroll valve.

av@areliCurLrafd, auCarfls @smgusmuamm 2DEs S855 SOFHEHOLW
Sjempuiledr Gl

A)  uTEm ereoTQUITENT B) Q.pL'._@I.'.I e

C) vegLé syud _ D) &@meT uTéay.
The types. of gills present in prawn are

A) 1 Podobranch, 3 Arthrobranches, 4 pleurobranches

B) 3 Podobranches, 2 Arthrobranches, 3 pleurobranches

C) 1 Podobranch, 2 Arthrobranches, 5 pleurcbranches

D) 1 Podobranch, 1 Arthrobranch, 6 pleurobranches.
@oreliés 2 siten Qeaysiaecflest cuemamael '

A 1aTéd Qoayer, 3, HfgGrm Q&mm&sﬂ 4 yeap @y Glegsyei sef
B} 3a&ré Qeaeiser, 2 ot5Cm Qeapradr, 3 yenGyn Cleeasiser
C) 1aréd Qaaelr, 2 g f5Cyr Qeeyiser, 5 LepCym Claaysias
D) 1lamé Qgeyet, 1 .%ﬂ%(‘ér;rr Qeeaet, 6 yapCrm Gleayerael.
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'146. Which one of the following is a non-chordate character ?
A} Dorsal and ventral roots of segmental nerves are not separate
B) Nervous lsystem 1s hollow |
C} Gut in ventral to nerve chord
D) Hepatic portal system is present.
S p&eaorLeubpuel &gl G SewoLpp efevmder Lstory ?
A) s proyseiar Gud whpb & Saurss GeoeanbSElug
B) é_l'_@&ﬁlu{sfrm B WDERTL 6D 2_6TeTg)
Q) 2 eoal uTeng BrbyaL Sl Sp SemwbgeTeng
D) &adelyd oghed Qared 2 drerg.
147. Match List I correctly with List II and select your answer using the codes given

below :
List I List II

a) Hydrozoan coral 1. Tubipora
b) Horny coral 2. Alcyonium -
c¢) Soft coral 3. Stylaster
d) Stony coral 4, Heliopora
e) Blue coral 5. Gorgonia.

Codes : '
a b c d e

A 2 1 4 3 5

B 4 3 5 2 1

) 3 5 2 1 4

D 1 4 3 5 2 _
uiguéd I uigue Mo Qurpsd, aCp GarRéstuPeaer @iluPsamens
_Qarrcom@ giflume mﬂmLcmuJ; CathLs( :

uCigwes I UL iguée I
a) enan CrrGemeudr Lalarh 1. QllucCurgr
b) el ueuemd 2. eeneGursstiub
c) Oueramwourer ussmd 3. evemLCeveo
d) &pueustid 4. arfSIGumseCumyr
€) e Bl ueeTd 5. eriGareflur,
@@lﬁ@ﬁeﬁ : ' r
a b c d e
A) 2 1 4 3 5
B) 4 3 5 2 1
-C) 3 5 2 1 4
D) 1 4 3 5 2




A
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148. The number of epidermal plates found in the Miracidium larva is’

21 B 14

12 ' D} 7.

Byrigu emiarale o sier Up 206& s&Gs6fdn axnaismes

A)

C)

B)
Q)

D)

21 : ' B 14

12 : Dy 7.

149. Parts labelled A, B, C, D and E in a typical thoracic appendage of prawn are

Dactylus, Propodus, Carpus, Merus, Ischium
Ischium, Merus, Carpus, Propodus, Dactylus

Pre-coica, Coxa, Basis, Dactylus, Ischium

Carpus, Propodus, Merus, Ischium, Dactylus.

[ Turn over
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UL gglevstenr @mmelledr wmiy Bloaardle gil&siul L unstest A, B, C D gy
Ewng 7 ' '

A)  LrsemLsven, q@grr(Bum_eiﬁ, smiusty, Wrev, @evdluib
B) . @evélui, Syey, sriudy, Hogr@uTL_ ey, LT &emL sven
Q  war-ardenr, srseur, Guélen, LiT&emLeveiv, @)euaid
D} amfuev, 4GrrGurien, e, @emaﬂwm LT &HemL.auel.
150 Paramecium is classified under which of the following orders ?
A) Gymnnstomatida B) Chonotrichida
C) Astomatida _ D)  Hymenostomatida,
urrq@mé]tum ereuiauflens e ofp mm&uu@ig,uu;@men@ ?
A BibCemrren@Lr ol gL m B) GanBermgesysdm
O gavCLrGuolgr D) mgm@(%mrrém@n.rr@wﬁqur.
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